

JAN. 23, 76

22

INVERSION OF MATRICES

By M.P.

$$\begin{array}{r} A = 2+3+1+4 \\ 1-2-1+3 \\ 3-1+2+1 \\ -1+1-2-1 \end{array} \quad \begin{array}{l} * \\ * \\ * \\ * \end{array} \quad \begin{array}{l} a = 2+1+3-1 \\ b = 3-2-1+1 \\ c = 1-1+2-2 \\ d = 4+3+1-1 \end{array}$$

$$\bar{x}^1 = (1-1+0+1)/6$$

$$\bar{x}^2 = (1-7-6-23)/42$$

$$\bar{x}^3 = (5+7-9-10)/42$$

$$\bar{x}^4 = (0+0+1+1)/2$$

$$A^{-1} = \left| \begin{array}{cccc} 0+0+2+2 \\ 7-7+0+7 \\ 1-7-6-23 \\ 5+7-9-10 \end{array} \right| / 42$$

$$A \cdot A^{-1} = \left| \begin{array}{cccc} 1+0+0+0 \\ 0+1+0+0 \\ 0+0+1+0 \\ 0+0+0+1 \end{array} \right| = A^{-1} \cdot A$$

See page 96 invol. 10

For the same solution

Nov. 20, 1974

Inversion of Matrices

By

M.P.

$$A = \begin{pmatrix} 2 & 3 & 1 & 4 \\ 1 & -2 & -1 & 3 \\ 3 & -1 & 2 & 1 \\ -1 & 1 & -2 & -1 \end{pmatrix}$$

we write:

The determinant seems to be 2(42).

$$a = 2 + 1 + 3 - 1$$

$$b = 3 - 2 - 1 + 1$$

$$c = 1 - 1 + 2 - 2$$

$$d = 4 + 3 + 1 - 1$$

$$= 84$$

$$\delta^{-b} = (1 - 1 + 0 + 1) / 6$$

$$\delta^{-c} = (1 - 7 - 6 - 23) / 42$$

$$\delta^{-d} = (5 + 7 - 9 - 10) / 42$$

$$\delta^{-a} = (0 + 0 + 1 + 1) / 2$$

final

$$A^{-1} = \begin{pmatrix} (0+0+1+1)/2 & 0+0+21+21 \\ (1-1+0+1)/6 & 7-7+0+7 \\ (1-7-6-23)/42 & 1-7-6-23 \\ (5+7-9-10)/42 & 5+7-9-10 \end{pmatrix} \Bigg/ 42$$

see complete

$$A \cdot A^{-1} = \begin{pmatrix} 1 & 0 & 0 & 0 \\ 0 & 1 & 0 & 0 \\ 0 & 0 & 1 & 0 \\ 0 & 0 & 0 & 1 \end{pmatrix} = I$$